PEMESIR N (BE ) Bk

| AH e i
i
NE L e I\ .
7 11 4 x| HHRt 95 4 2 X B 78 5 RS
7 14 14 ~2 0 45 7NES
27 18 T . P .
yiiEy; =a,(j=12,..,n) | THEY,=a,;(j=12..,n)
S0 1B i x iR U x =g SR X L L x = e,
36 |11 | At i AX = d (KB AE | SR 7 el AX = d (36 L STk
VRIS T Y100 F
9 )0 R ACR™ (232 | ¥xeRLACR™  (232)
40 10
1AL _ A, 1Al A
Ixll, =0 Ix]], I, — *o [[x]l,
>3 |3 K 55ma? 0, K5 51aD 20,
8|1 B4, a? =0 B, a0 =0
58 | 1811
g (06,87 +0,8,,..., (o8, a% +0,,,...,
KT @0 4@ el g ) | = (a8, 8l al Ty
K247
60 6
(‘7181’31(22)el+0'2e2'-"' (O-lel’atlg)el-i_o-ZeZ"'"
77 6 o (0) >,y . 0)
Y ST 5 X Y SE I T R X
T sy, W8T a,
. > \L'JJ/‘\ =)
8 |6 ELAPI K — o MUBIEE | e 1 viim ok 5 o0 mubeiE, ]| BI<1
51
93 # 10 .
o W vVxeR" & M VxeR", XX H
93 | 1815 >0 >0
126 f? L t0.01= £(0), £[0,0] = £/(0) = 0,
131 | 5 7 SRS SHAE I
13416 1 S(X) 24 1 S(X) 24




134 | 813 | 3. SRR SRR | 30 SRA A = R
139 | 4.3 8 | UFH] R =R RS IARE S | B 2 D
T 22 AH R 1.
142 | 16 xeR X <[a,b]
PP #e09>0 240020
103115 iy a,b) e 2 i (a,b) |-
163 | 16 (Remes) (Remez)
166 | 31 3 nil nil
b-a 1 b-a 1
LQ?'S)élﬂml(X) |S( 2 j F E%'”nﬂ(x) |:( 2 j 2_n
166 11 max |R, ()] max| R, (x)|
180 | 12 D151 6.6 DLt 6.2.4.
183 | 8113 | s KME i B3
198 B8 e 501 dn g, () 145 R 5.0 1 g (X) 45
202 | 15 f"(x f
RO =o)X 1) | RO = (x-x)(x-x)
208 | f3 4 I KA AT AE LAAS T b FAEAEAE DA T
218 K 7.2 52EIk Kl 7.2 52BN LA X
219 | 59 ANGE R ANB) R
221 | 7 . X .
ARG xR A AR B S xR A K
‘X—X*‘Sé'lj\], N, (X)) ={x|| x= X" |< 5},
2| f'(x)| 2k £(%,) |
230 | 12 1 1, 4.
_g(xi(k))Z _g(xl(k 1))2
231 | 81 REANTTREAE R FEA RHAE R
23918 H(X)=0,1 H(x) %0,1
242 | 11 |1 4 6 11 -6




243

f# 10

A, _ max(A*z,)
Az, max(A“"z,)
243 | 171 8
8 (4, —4) (4 —4)
267 | 11
h3 m _ h3 m
== (&) =3 (&)
269 11 Amdams — Bashforth Adams — Bashforth
e B TAL NPT SO Rk A
270 e B PUAL NPT SO Rk A
271 Ve B =4 MR SOk “PliAa
272 | 8145 | BTl BB b vk a2 LR | T S b v s 2 BUE NP h
fs AR v, PR ST Y, B ey,
21316 5(9.1.3) 5 (9.1.13)
26218113 1y i201,2,..n) y.(i=12,...n)
263 | 1 =a’le , |+ <a’le, |+
286 | 7 TRXTH Tif
289 | BI5 | mum 9.3.1) by R (9.3.0) ity
200 | 9
Yiian=VYi;t Yiin =Yt
200 | 12 K K
Yio +% Ysi +f
290 | 13
Vi + Ky Yoi + Ky
202 | {519
H [KJ (Kj
KlZ KZl
202 | {518
i I 3
K22 K22
202 | fs 6
HE T hy, +K,12) h(y, + Ky 12)
202 | 15 +2(Y, + Ky, 12) +2(y,; +K,, 12)
292 | 18 2

)
K32

)
K23




292 | {51
g _2(y1i + K21/2) _2(y1i + K12 /2)
302 |1 JELe T R SR AR R B ik T B SRAR 5% %
302 | 14 BRI S A AR E T A D S A LA BB VR AR
EME
305 | 11

X=X,+ih, 1=0,£1%2,..,
y=Y,+Jjr, j=0,£1,£2,..,

X =X, +ih, 1=0,%1+2,..,
Y, =Yo+ir, j=0,£1+2,.,




AT MRS RIS 2

ol ATEL Ji BT
fith
34 |15 i1 i-1
u; =a; — D LUy d =a; _zlidk
k=1 k=1
34 |17-1 i1 )
8 U = a _zlikukj Iji = (aji _zljkdklik)/di
k=1 k=1
Iji = Uj; /uii
34 |21 n-1 n-1
U, =a, _zlnkukn dn =a,, _lekdk
k=1 k1
35 | 4
Zi :L Zi :L
Ui d,
|8 U, ¥ 2, R X, HIRIER,
¥z, = AT X; 2RIk, ! !
35 | 9-10
Xy = I ) Xq zﬁ’
unn dn
Yi— D UiX xi:L—zIkixk,i:n—l,n—z,...,Z,J
X, = k=il Jd=n-1n-2,..,2,1 di S
U;;
7 (A A) 2 (AA)
2’min (AT A) ﬂ“min (AAT)
69 315
“ FE1 g p=
69 | 10 ¥ = g1l v, =
11 | {58 \ _ \ .
6 R @{xd 7 X H] [a,b] N A n+2 A 4 Bl @t X (Al [a,b] N A n+2 NE AT
11 |3
9 EF":%} = Rfrﬁ} =
12 | {54
s | Re() X
12 | 182
6 Rgiﬁj Rﬂ'iﬁj
16 |9
. p(t) = p(x) =




16

18 4

. p(x) = p(t) =

161 L max|R (9] max | R, ()|

6 1<x<1 a<x<b

18 [f#l5 | m=n m>n

7

18 | f33

; g 1%, .., X" 1 x5, .., X"

19 (11 i 6.1 401 % 6.2 %01

8

20 |8 — i k ANBEEAF R K — M kK AEEAF AR

7

23 |7 (s(k)_A—l (k))s(k)TA—l (S(k)_A—l (k))s(k)TA—l

7 k—ly k-1 k—ly k-1
()T A-1y,(k) ()T A-1y,(K)
STUAY 1+sMTAy

23 |14 (K) _ A1y (K)\o(OT p-1 (K) A1y, (K))(KT p-1

7 (6 =AYy )R (6= A Y )s A
()T A-1y,(k) (KT A-1y,(K)
STUATY 1+sMTAy

27 |11 | T=&NW (Hamming) 23 A3 (Hamming) A

9

28 |21

3 =a3|ei72|+ Sa3|ei72|+

28 |9 T R SRAT JE IR A A i & Lipschitz 14




	数值分析教材勘误表.pdf
	数值分析教材勘误表（新）

